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405 XH&HF S HI 4,000 0 4,000
01 XAt =3 F S HI 4,000 0 4,000
OQUEUNAIEE B85 LHD|
4.000,000& =14l 4,000
WEAND 2R A 151,080 171,224 N20,144
2 75,000
Al 76,080
401 Al HI L £ 0HHI 151,080 171,224 N20,144
2 75,000
Al 76,080
01 Al& B 150,000 170,000 A 20,000
QUEAMND 22 M (LAAHEZ 2 2IHA)
150,000,000 = 1A! 150,000
2 75,000
Al 75,000
03 A& E2HH]| 1,080 1,224 AN 144
OAlE S0l 150,000,000 *0.72/100 1,080
HASHE A4 L B4 572,168 659,377 N 87,209
201 gEt24y| 124,740 120,000 4,740
02 E2=224%H| 124,740 120,000 4,740
O3 AIE &HI RXHI 124,740
>S2AE SAEH|(HA L EHAL
16,5002 6300 A+ 12& 124,740
401 AlEHIZL 2 0HY| 447 428 539,377 A 91,949
01 Al&EH| 444 000 536,000 A 92,000
OHASTEOIZE) 8 o P4
10,000, 000 3074 2 300,000
OHASZHE RIAE 50,000,000& x 14! 50,000
OHASZZE EXo 2 O XA x| (SHIFH )
1,000, 000& 40K 2~ 40,000
OAMUHA B2 0|EE HU|(SHIFH ) 54,000
DRI 300,000 1004 2~ 30,000




2N S
M swE 4 N2

S HEWUE NMHIA HE(DSMAEHSH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
>R 120, 000& *200H 2~ 24,000
03 A& 20 Y| 3,428 3,377 51
OAl& 20| 544,000,000 *0.63/100 3,428
ol gl gl 1,343,135 680,228 662,907
801 0l 5l Bl 1,343,135 680,228 662,907
01 olgl 8l 1,343,135 680,228 662,907
ooyl bl 1,343,135,000& =14 1,343,135
WECOHA oAl A (NEMISLEIH) 104,386 109,969 N5,583
Helol nsSetdnNE F4 47,800 45,500 2,300
307 212t01 & 47,800 45,500 2,300
05 A2t E = 47,800 45,500 2,300
OelolnESE 22 E 47,800,000& *14] 47,800
Bl g NeHs 30,586 35,469 N4, 883
201 LEt2 Y| 23,386 26,269 N 2,883
01 AFR2t2l bl 15,286 17,302 N2,016
O1 etx=2H| 7,000
PHNEXNEHE GHUHEEZ M
5,000, 000& * 14 5,000
DR ¥ EHIASK 2HE2 =22
& 2,000,000& * 14 2,000
O4 1l =4| 1,230
DA EXNSI HE5E 1,230
oot= 100, 000& *39! 300
oss 140, 000& %321 420
ogs= 70,000& 30! 210
O &gt 50,000& =32l 150
[OIFSFN 50,000& 39! 150
O5 2 &l 7,056
DEARABIAS A NESS E2A A H
7,000& x791 %122 x 12& 7,056
02 332494l 8,100 8,967 N B867
O1 2222 % HA 1,200
DASI SHNEELZ2 (58
0,000& 10 *23] 100
> Xt S XA 400,000 = 1CH 400
>SS BEE2(58H) 700,000 = 1CH 700
O4 Xtg. deky| 6,900
PNE= R 5,400,000& = 1CH 5,400
> Xt s Xl 22l 1,500,000& = 1CH 1,500
202 4] 7,200 7,200 0
01 2LHOHI 7,200 7,200 0




H: s

H

ol

ot
=4 XA

==
=]
=

=] 0
OHﬂ 0

P NECHM oAl USH(WEAMSAELYEZAH) (2 &HH)
(o
SN ED B (3H) - MEAY - BAS %@i HD=2
O AL XteE NEEHS oyl
600,000 x12& 7,200
ECHEAIYE 29 26,000 29,000 A 3,000
301 et A= 4,000 4,000 0
10 HAFAHI B &2 4,000 4,000 0
OUESHN HERYE s A8 4
4,000,000 =14l 4,000
307 2iz2to| & 22,000 22,000 0
02 QI2tAH AP X 22,000 22,000 0
ORYES™AE &Sl KN 12,000,000 =14 12,000
O0E0l REAID S =sH AH
10,000, 000 = 1Al 10,000
I 2 (DEAMNASELHSH) 927,255 843,307 83,948
=X 2X EXE AU 50,324 20,000 30,324
401 AlEHIZL £ 0HY| 50,324 20,000 30,324
01 Al&H| 50,000 20,000 30,000
OFEX 279 & AXY EXE &X
50,000,000 = 14! 50,000
03 AlE 21| 324 0 324
OAlIE 20l 30,000, 000& *1.08/100 324
& =X ) BXZ2 N 40,000 40,000 0
402 12V XHE0| & 40,000 40,000 0
01 QI2t X2 X 40,000 40,000 0
OWWEF=XE D] A XI&
2,000,000 x200}+ + 40,000
9 OF=AEX S 756,211 639,407 116,804
201 gEt24Hy| 545,043 564,507 N 19,464
01 AP 2t 2] d| 94,065 107,915 A 13,850
O1 LBt=2H| 70,785
DE2HFAEI} SE2E M2 26,625
OCE=AEH(UEH2EW L AQIHAXIE)
2502 =10, 0000H 2,500
O XA 602 100, 0000H 6,000
O CHEANAEEA 602 *80,0000H 4,800
O AR0ISES KA 250 x5000H 125
OPDA &t AEIHE 100, 000& »28+ A 200
ORI L =EEESEAN
65,000 2008+ A 13,000
DEHTIEX} HADE(FZE, B S)
1,500,000 = 14! 1,500
DOZIH ARE(EY, JIECIA EE)
20,000,000 = 14! 20,000




BN DEHH
Mz HznE 4 I
S FAX 2 (NEANLSEESIH) (2 &HH)
- - — -|ll:=|
SA BB (SH) - NRAY - B Ol At o ﬁ}l&ﬁ HRE2
b |

DAUASX2SMNENES A A

,000,000& » 14!

AFSIAI 20

& 29l

100,000& »2J1 A » 123

60,0003 *20H 2

N N
T e T T IT

00& x6,0004 12

DASIH2SHAUHE MENE = =2

12,000,000 *3/ 100+ 128 »2JH &

DASI2AUEHE HMEL HAFFSI =
=

o
N

e 3,000 10024
O4 Tl 24|
DEUTIHA SEQA (S, HRIALFA)
0 5t= 100,000 *1501
oss 140,0008 %1501
O &3t 50,0008 #1501 23]
ogset= 70,0002 159!
O ==& Hi 70,0002 %1501
oFAR 50,0002 159!
O5 Sl
DEHFHI CH(5L.0F2) L SEHSH
EL 7,0002 «621 x3653]
2229
o1 222 2 MA
DRELS(AUS LEH2 DNA s5E€2)
0 7l 1,77084%5,00001 « 122
O Lt 2702 %20, 0000 « 12
DCXIERAI AIRBE 25,000 *150H* 122
DEUFIHACS CCTV M2
40,0008 420K x 122
DEYIHEICS CCTV 8238 23
170,0002 «425| &« 128
DASK SFMLASLS 80,0002 +30H 23]
DS 2AN =42 25,0002 93]
DASXH 282 500,0002 »7CH
DEIIY L AQARA
o®IIR2 100,000 *6IH A * 128
ONBI+ER2 20,0009 %20 A » 128
02 A Z2Hl
DAQIAFR A& (L) 1,331 #8A| 2t+72L
O3 AIZ EHIS X
S O|Ct AFSHAl Tl A

1,500,000& *20H 2
PLOXESEDI 40,000 150K

4,000

2,400
120

7,200

8,640

300
7,950
7,950
1,500
2,100
1,500
1,050
1,050

750

15,330

15,330
450,978
293,225
171,000
106,200

64,800

4,500

20,160

85,680
480
225

3,500
7,680
7,200
480
767
67
91,960

3,000
600

456,592

Ab,614




A

=R

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
CEEE OsALE SAP4
2,700,000 x5CH 13,500
DACIAIR A BE208 KA
4,000, 0003 * 14! 4,000
DROHEAAHE FXNES
5,450,000 x12& 65,400
>E=E PDA RALES 2,000,000& =14 2,000
DS BEHE MH RAES
40,0003 x12& 480
DPOAS AL AtBZ 20,0003 «2CH =128 480
D=ad SHSAIAE Ol & X
2,500,000 » 14! 2,500
O4 X+&. &l 65,026
D XEssH 41,526
[OR=2=; 7,553,000 »4CH 30,212
[OR=3-=1PN; 4,392,000& «1CH 4,392
O AQIXt 3,461,000 »2CH 6,922
> Xt &= X dl 23,500
[OR=3=DX 4,000, 000& =4 CH 16,000
[OR=3-1PN; 2,500,000 = 1CH 2,500
O AR Xt 2,500,000 »2CH 5,000
202 O4dl 16,800 16,800 0
01 = LH 4 1 16,800 16,800 0
OSYFEX &= & MY LEHE = 0l 16,800
DEYHFEXN ©= O 900,000 »12& 10,800
DASX2E MY ‘EHE F=04
500,000& 12& 6,000
305 Hal=s 2,000 2,000 0
01 Hia=S 2,000 2,000 0
OUIAIX SRt Fl e & 200,000& = 10CH 2,000
401 Al HIZ 201 8] 191,368 0 191,368
01 A& HI 190,000 0 190,000
SYHFEXN XN 2E A
100,000, 000& * 14! 100,000
OSYFII oItk AIAE RMEX(DHA
) 30,000,000& =34 A 90,000
03 A& =2 THHI 1,368 0 1,368
OAIZ 2l 190,000,000& *0.72/100 1,368
405 XtatE SHI 1,000 27,400 A 26,400
01 AR ESFH S 1,000 27,400 A 26,400
OuWsXEd MRBA V2L 1,000,000& = 1CH 1,000
SEFNHE =4 80,720 143,900 A 63,180




A REWEDY
Mz HznE 4 I
S FAX 2 (NEANLSEESIH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL £ 0HY| 80,720 143,900 A 63,180
01 Al&H| 80,720 143,000 NB2,280

O3g=XE =4 & ANE FUES=(54)

80,000, 000& » 14! 80,000
OAIE 2| 80,000, 000& *0.90/100 720
HE2LIH(DSHF W) 376,685 A27,
OH2IH (RSN (LSMLSLESH) 297,047 23,
gH2AH (S E L) 297,047 23,
101 1Al 297,047 23,
03 RIAHLZ 22> 297,047 23,
OHASAE (553 JIE) 197,669
>olEs 1,191,510& «821«12& 114,385
>&aoi3 114,385,000& x4/ 12 38,129
DAR 22 8,9883 «821 %360 Al 2t 25,886
PRLIRSE 72,2503 +8Q1 122 6,936
DAXE 34,1603 «821x10& 2,733
D> EHF A 50,000 821 x12& 4,800
DusS 2 x| 50,000 «821 x 12 4,800
OHALZR (TS JIE) 41,265
>llEs 1,035,000& 221 x12& 24,840
>aN= 24,840,000& *4/12 8,280
DAt 2R+ 7,654 x221x240A| 2t 3,674
e ] 61,530 22112 1,477
DXt 29,670 22110 594
DAz al 50,000 «2Q1 x 12 1,200
> uwsS 2 x| 50,000 221« 128 1,200
O=2g=s Eg= 238,934,000& *4.5% 10,753
OAL=EE R 238,934,000& *2.9% 6,930
oY EE= 6,930,000 *6.55% 454
OnEEEE 238,934,000 *1.95% 4,660
OMHEEE 238,934,000 *1.285% 3,071
o=l 3,710
> ot= 100, 000& 72! 700
>Es= 140,000& »7¢! 980
> etat 50,000 #7Q1+23] 700
> &=t 70,000& »7¢! 490
> etgt=s 70,0003 #7Q! 490
D> el 50,000& =721 350
o=l 360
> ot= 100, 000& 12! 100
>E= 140,000& »1¢! 140




2A NS
M HY2IZH(nsdF )
Cel: oY (RSHEEN)(NSALSEFA) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
D> et=s 70,000& x1¢! 70
> ot & 3t 50,000& =1¢! 50
OSIRAE MYS(+HENI)
8,342,560 x 14! 8,343
OExeZ HYB(FHEEER)
238,934,000& 8. 3% 19,832
Jl2ZHl(RSAILESESAH) 79,638 131,076 A 51,438
Jl2dbl(nsdd ) 79,638 131,076 A51,438
201 £Br2%H| 55,608 106,616 251,008
01 At 22l 52,008 103,016 A51,008
O1 Let==ZH| 39,240
DEASESZH(SASX 2 105)
2,500,000& x12& 30,000
DEAD Y ZEH EH.EE
300,000& =150 23| 9,000
Dusatd HIEE 30,000& »8&H 240
O5 =&l 12,768
DOt 522 R 7,000 382! «43| x 12 12,768
02 =24l 3,600 3,600 0
O3 A& ZHl s Xl 3,600
DEAI & FNE* 300,000 122 3,600
202 (44l 11,700 11,700 0
01 = LH o4 1l 11,700 11,700 0
OJlege+=8 0l 975,000& »12& 11,700
203 YR =&l 4,680 4,860 A 180
04 FENSEHR=LH 4,680 4,860 A 180
ORM2IdRF&HI(382!) 390,000& 122 4,680
405 XHoHE S HI 7,650 7,900 A 250
01 AL ESFHSHI 7,650 7,900 A 250
OPC 1,350,000& 504 6,750
OXNAE QAX (LR E) 180,000& 54 900




